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BEXrT BHARL
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=4 e Giil e — B = NO. 1
(¢ 200 mm Y 7 e . e 8 mm
O N T I I B O I + T ~ t | W
> |Hl e E e HI HEL A E OB E I\
= T i " S B I z?z Hl £ e 1 HLE RS %%‘% — ®
5 4 i fa ¢ o _ - _ N o N o | E10emE T i =
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& (Al 0.28m 1 A Sem BIWTILE
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NO. NO. m m m m m m m m m m m m m m m m m m m
1-1-1 | 1.54 14.90 | (0.95) (0. 359) (0.95) | (0.95) Rk 2 73R
1-1 1-1-2 | 1.95 | 1.75| 14.90 | 14.90 0.90 | 14.00 23.21 0.34 | 8.49 5.35 | 14.18 14.16 | 14.16 29. 80 14.90 | 2.0
1-1-2 [ 1.97 59.90 | (0.95) (0. 359) (0.95) | (0.95) SRk 2 73 M
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IEET (A FT) 1.000 X 0.80 X 0.30 = 0.24 0.24 m3
WL P+ Al R
CREM) 1.000 X 0.80 X( 1.60 - 0.71 )= 0.71 0.71 m3
‘FE%@%I t=30cm
(FAYLEARA) 1.00 X 0.80 = (.80 0.80 m2
LE%@%I t=36cm
(FHARiFarn) 1.00 X 0.80 = 0.80 0.80 m2
t=5cm
#ET .00 X 0.80 = (.80 0.80 m2
%@%@fi t=5cm
Asik 0.80 X 0.05 = 0.04 0.04 m3
R ANTJ
A A .00 + 0.24 = 1.24 1.24 m3




R LA E
B it 3 =, 2
T B A A K ek B
A 5 T B £+ No.1,No.3,No.4 3 57
& PT 4720
ST = 2.00 m W= 0.80 m H= 1.30 m
EliEE ARG
As t=15cm ( 200 + 0.80 )X 2 = 5.60 5.60 m
EEE AR A 2.00 X 0.80 = 1.60 1.60 m2
AsElidE =
R HE (B 2.00 X 0.80 X( 1.00 - 0.05 )= 1.52 1.52 m3
IEET (A FT) 200 X 0.80 X 0.30 = 0.48 0.48 m3
HRL B+ AT
CREM) 200 X 0.80 X( 1.30 - 0 = 0.94 0.94 m3
TE%?E%I t=30cm
(FAYLEARA) 2.00 X 0.80 = 1.60 1.60 m2
LE%@%I t=36cm
(FHARiFarn) 2.00 X 0.80 = 1.60 1.60 m2
t=5cm
#fET 2.00 X 0.80 = 1.60 1.60 m2
Tﬁ“@ﬁﬂ%@fi t=5cm
Asik 1.60 X 0.05 = (.08 0.08 m3
R ANTJ
FAE 1.52 + 0.48 = 2.00 2.00 m3




R LA E
il 5 3 SN 3
. - i H A AL B
PRI HIC -2 1 f&FT
1T 4720
AT 1.50 m 0.80 m 1.50 m
SRR B
As t=15cm 1.50 + 0.80 2 4.60 4.60 m
AR AR A 1.50 X 0.80 1.20 1.20 m2
AshiieE
PEHI (B0 1.50 X 0.80 1.20 - 0.05 )= 1.38 1.38 m3
#EHI(ATT) 1.50 X 0.80 0.30 = 0.36 0.36 m3
HRL PEAEHA
GRER) 1.50 X 0.80 1.50 - 0 0.95 0.95 m3
‘FE%@%I t=30cm
(FFAEY)ARA) 1.50 X 0.80 = 1.20 1.20 m2
LE%%%I t=36cm
(FHERIaRfET) 1.50 X 0.80 1.20 1.20 m2
t=5cm
FKETL 1.50 X 0.80 1.20 1.20 m2
%&L@fﬁ%@@ t=bcm
AsEl 1.20 X 0.05 0.06 0.06 m3
i AT
FAE AL 1.38 + 0.36 1.74 1.74 m3
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) MEsEnl K- A -
S £ AITD A% No. 12 1 577

& PT 4720
ST = 1.00 m W= 0.80 m H= 150 m
EliEE ARG
As t=15cm ( 1.00 + 0.80 )X 2 = 3.60 3.60 m
EEE AR 1.00 X 0.80 = 0.80 0.80 m2

sk
R HE (B 1.00 X 0.80 X ( 1.20 - 0.05 )= 0.92 0.92 m3
IEET (A FT) 1.000 X 0.80 X 0.30 = 0.24 0.24 m3
HLRL Bl A
CREM) 1.00 X 0.80 X( 1.50 - 0.38 )= 0.90 0.90 m3
Et%ﬂ%j: t=33cm
(FAYLEARA) 1.00 X 0.80 = (.80 0.80 m2
t=5cm
#ET .00 X 0.80 = (.80 0.80 m2
%@%@fi t=5cm
Asik 0.80 X 0.05 = 0.04 0.04 m3
R A7)

A A 0.92 + 0.24 = 1.16 1.16 m3




&% T B (1)

&% T B (2)

ft % T B (3)

T-2RPHA W) SAEETETSE

PRt B8 W=15m L=0. 20m

T-2RPEHRA (@) SRKEETETE

No 1-1-2
+#.0A > aZEN
&
_-A_-:;
T
& K=}
3l

] . i
| !
: ! ?M‘ — 1‘_; _,__,
:snseﬁ LS Y 5em| L=2 Tom i
b3 w4 5 NO 2 L
| H  —
/ =
() I .
s S e 8
+&H W\t
T, 9200
'5. 0%, 3. 0%o
R T

T-2aitoEt (M) SKEREEETE

DP=2.10~3, 24

00
. 1%

? mh g EF'E'. W‘Tﬁﬁmt? 00m

T

No. 3-1-3

g < N

1.00

9600
1. 2 ‘} 1. 0%o




AFLNo.3-1-1, No.3-1-2. No.3-1-3

b | B B g B =
SHEYM T 3-1-1
t=15emL T = 316 + 3.16 + 2.00 + 2.00 = 10.32
3-1-2
= 316 + 3.00 + 3.00 = 0.16
3-1-3
L= 3.16 + 3.00 + 3.00 = 0.16 28.64 m
SEREIELT 3-1-1
t =10cmBL T =316 x 200 — 0.95 x( 1.50 + 1.32) = 3.64
3-1-2
=316 x 300 — 095 x( 1.00 + 1.50 ) = 711
3-1-3
A= 3.16 x 3.00 — 0.95 x( 1.00 + 1.50 ) = 711 17. 86 m2
AsERALsy T V= 17.86 x 0.11 1.96 m3
t= 1.96 x 2.35 4.61 t
MR T
V= ( 0.45 — 0.11 ) x 17.86 6.07 m3
BI+5HT AsiE
H4 6.07 m3
BEET BIRSERET (BEIRIKEERT S)
A= 300 m x 1.00m x 3 #& 9.00 m2
W= 9.00 m* x 0.20 t/m 1.800 t
BIZMRERET
SHTHAZEE) 250 x 250 x 9 x 14
W=300m x 2 A x 0.080 t/m 0.480 t 0.480 t
SHEE I H# GETZ )
[- 200 x 80 x 7.50 x 11
W= 3.00m x 2 A& x 0.0246 t/m 0.148 t 0.148 t
SHEREIET TmEREIRT
A= 17.86 17.86 m2
ERES A W= 1.80 t + 0480 t 2.280 t
i H W= 1.800 t + 0480 t 2.280 t
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